

Pay Estimate Created Date: May 16, 2023

Progre	ess Estimate Number	Contract ID	220916-C0	6		Pay Period Start	May 2, 2023	3 Original Contract Amount \$2,853,856.			
11		Prime Contractor	Radmache Co.,Inc.				and ^{May 15,} 2023	Net Change Order Amount Current Contract Amo	\$2,994.39 unt \$2,856,850.65		
Approval Date									By User		
May 16, 2023			Gene	erated and	Approved (a	and should be consid	ered Draft) at the	Project Office Level by	jamesc2		
May 16, 2023			Reviewed	d and Appr	roved (and sl	hould be considered	Draft) at the Res	ident Engineer Level by	ilesb1		
May 17, 2023					Reviewed a	ind Approved at the 0	Central Office Co	ntrollers Office Level by	ramses1		
Original Completion Date Current Completion				Date	Actual	Completion Date	% of	Current Contract Amou	nt Complete		
December 1, 2023 December 1, 20				3	98.43%						
C	ontract Inform	national Dates					Milestones				
Date Description	Origin Completio		Current	Date [Description	Original Completion Date	Current Completion Da	Days Remaining of Milestone	on Diary Charge Days		
Acceptance Date				Milestor Calenda		June 4, 2023	June 4, 2023		18		
Awarded Date	October 5, 2	022 Octob	per 5, 2022								
Letting Date	September 1 2022	16, Septe 2022	ember 16,								
Notice to Proceed Date	December 5	, 2022 Dece	mber 5, 2022								
Open to Traffic Date	May 15, 202	3 May	15, 2023								
Work Began Date											

Contract Total Pa	ay For Estimate No. 11			
		This Estimate	Previous	To Date
220916-C06				
	Total Posted Items Pay	\$276,499.03	\$2,535,591.01	\$2,812,090.04
	Gross Item Adjustments	(\$41,490.45)	\$43,053.20	\$1,562.75
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$2,578,644.21	\$2,813,652.79

Contract Total Payable This Estimate:

\$235,008.58

<u>ltems</u>	Paid	<u>This</u>	Estimate	Period	

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3S3174	0070	2071000	LINEAR GRADING CLASS 1	STA	\$1,396.750	8.6	\$12,012.05
	0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$8.450	125	\$1,056.25
	0100	4019905	MISC.OPTIONAL PAVEMENT	SQYD	\$76.800	125	\$9,600.00
	0120	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	CUYD	\$47.100	3.6	\$169.56
	0130	6096041	PLACING TYPE 1 ROCK DITCH LINER	CUYD	\$41.300	3.6	\$148.68
	0190	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$89.500	-6	(\$537.00)
	0210	6161030	TYPE III MOVEABLE BARRICADE	EA	\$210.600	9	\$1,895.40
	0260	6181000	MOBILIZATION	LS	\$179,836.000	0.25	\$44,959.00
	0330	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$5.000	713	\$3,565.00
	0380	8061005	ROCK DITCH CHECK	LF	\$25.950	44	\$1,141.80
	0450	6061060	MGS GUARDRAIL	LF	\$32.900	675	\$22,207.50
	0460	6061080	MGS END ANCHOR	EA	\$1,316.500	2	\$2,633.00
	0470	6062100	BRIDGE ANCHOR SECTION (CURB TYPE)	EA	\$2,632.750	4	\$10,531.00
	0480	6062303	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	EA	\$631.900	4	\$2,527.60



Pay Estimate Created Date: May 16, 2023

	Progress Estimate Number 11 Contract ID Prime Contractor		Radmacher Brothers Excavating Pay		Pay Period Start Pay Period E	Mov 15	Net Change Order Amount	Amount \$2,853,856.26 \$2,994.39 Amount \$2,856,850.65
Project Number	Line Number	Item Code	Item De	escription	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3S3174	0490	6063014	TYPE A CRASHWORTHY	Y END TERMINAL (MAS	H) EA	\$3,264.750	2	\$6,529.50
	0540	9031210	STRUCTURAL STEEL PO	OSTS	LB	\$5.800	3,530	\$20,474.00
	0550	9031220	PIPE POSTS		LB	\$8.150	420	\$3,423.00
	0560	9031270A	2 IN. PSST POST - 12 GA	۹.	LF	\$20.000	79.7	\$1,594.00
	0570	9031271A	DRIVEN POST ANCHOR	FOR 2 IN. PSST - 12 G	A. EA	\$105.300	5	\$526.50
	0580	9031272A	2.25 IN. PSST POST INS	ERT (6 FT.) - 12 GA.	EA	\$131.700	1	\$131.70
	0590	9031280	2.5 IN. PSST POST - 12 0	GA.	LF	\$23.150	16.6	\$384.29
	0610	9035004A	SH-FLAT SHEET		SQFT	\$20.000	30.25	\$605.00
	0620	9035011A	ST-STRUCTURAL		SQFT	\$30.550	436	\$13,319.80
	0660	7021212	GALVANIZED STRUCTU	RAL STEEL PILES (12 I	N) LF	\$143.100	61	\$8,729.10
	0700	7034222	SLAB ON CONCRETE BE	EAM	SQYD	\$571.500	23.6	\$13,487.40
	0740	7122300	BRIDGE RAIL (TWO TUB	E STRUCTURAL STEE	L) LF	\$310.700	307	\$95,384.90
Project J3S31	74 - Total							\$276,499.03
Overall - Tota	l							\$276,499.03

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
I3S3174	0080	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material			-7,619	\$8.45	(\$64,380.55)
	0080	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0025) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	7,619	\$8.45	\$64,380.55
	0110	CONCRETE GUTTER TYPE B	Material			-221	\$68.10	(\$15,050.10)
	0110	CONCRETE GUTTER TYPE B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0026) due to user jamesc2 overridding Payment Estimate Exception 6 on the current Payment Estimate.	221	\$68.10	\$15,050.10
	0330	PERMANENT EROSION CONTROL GEOTEXTILE	Material			-713	\$5.00	(\$3,565.00)
	0330	PERMANENT EROSION CONTROL GEOTEXTILE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user jamesc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.	713	\$5.00	\$3,565.00
	0350	SEEDING - COOL SEASON GRASSES	Material			-0.8	\$4,739.25	(\$3,791.40)
	0350	SEEDING - COOL SEASON GRASSES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user jamesc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.	0.8	\$4,739.25	\$3,791.40
	0380	ROCK DITCH CHECK	Material			-44	\$25.95	(\$1,141.80)
	0380	ROCK DITCH CHECK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user jamesc2	44	\$25.95	\$1,141.80



Pay Estimate Created Date: May 16, 2023

	Progr 1 [,]	ress Estimate Number 1	Contract ID Prime Contractor	220916-C0 Radmacher Co.,Inc.	6 Brothers Exc	Start	Original Cont Net Change C Amount Current Contr	Order	\$2,853,856.26 \$2,994.39 \$2,856,850.65
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3S3174						overridding Payment Estimate Exception 1 on the current Payment Estimate			
	0450	MG	S GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transactic			(\$12,613.84
	0460	MGS	END ANCHOR	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transactic			(\$1,700.00
	0470	BRIDGE ANC	HOR SECTION (CURB TYPE)	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transaction			(\$6,020.00
	0480		SYMMETRICAL N SECTION, 6.5 FT. POSTS	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transaction			(\$1,080.00
	0490		RASHWORTHY MINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transactio			(\$3,900.00
	0510		OR ASSEMBLY, BLE 3-STRAND	Material			-2	\$3,791.25	(\$7,582.50
	0510		DR ASSEMBLY, BLE 3-STRAND	Material		This adjustment offsets the original systen generated Material Payment Estimate Ite Adjustment (0017) due to user jameso overridding Payment Estimate Exception 5 c the current Payment Estimate	m 2 on	\$3,791.25	\$7,582.50
	0540	STRUC	TURAL STEEL POSTS	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transaction			(\$13,704.21
	0550		PIPE POSTS	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transaction			(\$2,472.40
	0560	2 IN. PSST	POST - 12 GA.	Material			-156	\$20.00	(\$3,120.00
	0560	2 IN. PSST	POST - 12 GA.	Material		This adjustment offsets the original systen generated Material Payment Estimate Ite Adjustment (0018) due to user jameso overridding Payment Estimate Exception 1 on the current Payment Estimate	m 2 9	\$20.00	\$3,120.00
	0590	2.5 IN. PSST	POST - 12 GA.	Material			-35	\$23.15	(\$810.25
	0590	2.5 IN. PSST	POST - 12 GA.	Material		This adjustment offsets the original system generated Material Payment Estimate Ite Adjustment (0019) due to user jameso overridding Payment Estimate Exception 2 on the current Payment Estimate	m 22 20	\$23.15	\$810.25
	0650		PROACH SLAB (MINOR ROAD)	Material			-129	\$324.80	(\$41,899.20
	0650			Material		This adjustment offsets the original system generated Material Payment Estimate Iter Adjustment (0020) due to user james overridding Payment Estimate Exception 3 o the current Payment Estimate	m 2 vn	\$324.80	\$41,899.20
	0730		ORCING STEEL POXY COATED)	Material			-11,220	\$1.95	(\$21,879.00
	0730			Material		This adjustment offsets the original system generated Material Payment Estimate Ite Adjustment (0021) due to user jameso overridding Payment Estimate Exception 8 c the current Payment Estimate	m 2 on	\$1.95	\$21,879.00
	0750	VERTICAL DRAIN AT END BENTS		Material			-2	\$1,840.50	(\$3,681.00
	0750	VERTICAL	DRAIN AT END BENTS	Material		This adjustment offsets the original system generated Material Payment Estimate Ite Adjustment (0022) due to user jameso overridding Payment Estimate Exception 1	m ;2	\$1,840.50	\$3,681.00

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 16, 2023

	Progre	ess Estimate Number	Contract ID Prime	220916-C0 Radmacher	6 · Brothers Exc	avating	Pay Period Start Pay Period End	May 15,	Original Contr Net Change O		\$2,853,856.26 \$2.994.39
			Contractor	Co.,Inc.			Fay Fellou Ellu	2023	Amount Current Contr	act Amount	• /
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3S3174							on the current Pay	ment Estimate	Э.		
	0810		ECHANICALLY EARTH WALL SYSTEMS	Material					-1,666	\$106.50	(\$177,429.00)
08	0810		ECHANICALLY EARTH WALL SYSTEMS	Material		generate Adjus overriddin	stment offsets the o d Material Payment tment (0023) due to g Payment Estimate on the current Payr	Estimate Iter user jamesc Exception 1	n 2 2	\$106.50	\$177,429.00
	0840		ECHANICALLY EARTH WALL SYSTEMS	Material					-1,631	\$107.20	(\$174,843.20)
	0840		ECHANICALLY EARTH WALL SYSTEMS	Material		generate Adjus overriddin	stment offsets the o d Material Payment tment (0024) due to g Payment Estimati on the current Payr	Estimate Iter user jamesc Exception 1	n 2 4	\$107.20	\$174,843.20
	5001		MISC.	Material					-427	\$57.96	(\$24,748.92)
	5001		MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0027) due to user jamesc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.			n 2 n	\$57.96	\$24,748.92
Total											(\$41,490.45



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Con	tract Project Informatio	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J3S3174	FAS S302(98)	Bridge replacement	Т	LAFAYETTE	over I-70 near Concordia		
Totals by .	Job Numbe	ers					
J3S3174		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$276,499.03 (\$41,490.45) \$235,008.58	Previous \$2,535,591.01 \$43,053.20 \$2,578,644.21	To Date \$2,812,090.04 \$1,562.75 \$2,813,652.79
	Liqui	tive centive dated Damages Contract Adju		i	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Feriod			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 3040143, Project Item Line Number 0080, Material Set 304014396, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	QC needs to enter compaction test	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 3049907, Project Item Line Number 5001, Material Set 304990796, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	QC needs to enter gradations	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 5031011A, Project Item Line Number 0650, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient.	QA concrete test need entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 5031011A, Project Item Line Number 0650, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	Certifications on SharePoint but test need entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 6064110, Project Item Line Number 0510, Material Set 606411096, Material 1040GUAAZC - Guard Cable Galv Anchor Assembly, Acceptance Action Generic 1040GUAAZC is insufficient.	Materials needs to enter test	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 6091042, Project Item Line Number 0110, Material Set 609104296, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	QC and QA concrete test need to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 6240103A, Project Item Line Number 0330, Material Set 6240103A96, Material 1011GXT3 - Geotextile Fabric for ErosionControl(T3), Acceptance Action Generic 1011GXT3 is insufficient.	Certification is on SharePoint test needs to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7101000, Project Item Line Number 0730, Material Set 710100096, Material 1036RSSRECAB - Epoxy Ctd Sprl Stl Rein for Anch Bolts @, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL needed	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7101000, Project Item Line Number 0730, Material Set 710100096, Material 1036RSDFEC42M29 - Rein Steel EC No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	PAL needed	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7101000, Project Item Line Number 0730, Material Set 710100096, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	PAL needed	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7151001, Project Item Line Number 0750, Material Set 715100196, Material 0715DRVT - Vertical Drain at End Bents, Acceptance Action Generic 0715DRVT is insufficient.	District materials needs test	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7201000, Project Item Line Number 0810, Material Set 720100096, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	QC and QA Gradations need to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7201000, Project Item Line Number 0810, Material Set 720100096, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient.	Certifications are on SharePoint. Test needs to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7201000, Project Item Line Number 0840, Material Set 720100096, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient.	QC and QA Gradations need to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 7201000, Project Item Line Number 0840, Material Set 720100096, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Certifications are on SharePoint. Test needs to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 8051000A, Project Item Line Number 0350, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Certifications are on SharePoint. Test needs to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 8051000A, Project Item Line Number 0350, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Visual Test needs entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 8061005, Project Item Line Number 0380, Material Set 806100596, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	Certifications are on SharePoint. Test needs to be entered	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 9031270A, Project Item Line Number 0560, Material Set 9031270A96, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	General Materials needs to entered test.	jamesc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J3S3174, Item 9031280, Project Item Line Number 0590, Material Set 903128096, Material 0903HSTS - Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	General Materials needs to entered test.	jamesc2	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
20916-C06	J3S3174	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$3,653.50	\$3,653.
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$66,208.00	\$66,208.
		0001	0030	2035000	UNCLASSIFIED EXCAVATION	610.00	0.00	610.00	CUYD	610.00	\$10.55	\$6,435.
		0001	0040	2035500	EMBANKMENT IN PLACE	5,452.00	0.00	5,452.00	CUYD	5,452.00	\$18.05	\$98,408.
		0001	0050	2036000	COMPACTING EMBANKMENT	2,173.00	0.00	2,173.00	CUYD	2,173.00	\$1.70	\$3,694.
		0001	0060	2061000	CLASS 1 EXCAVATION	1,889.00	0.00	1,889.00	CUYD	1,889.00	\$14.10	\$26,634.
		0001	0070	2071000	LINEAR GRADING CLASS 1	25.20	0.00	25.20	STA	25.20	\$1,396.75	\$35,198.
		0001	0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	7,494.00	125.00	7,619.00	SQYD	7,619.00	\$8.45	\$64,380
		0001	0090	3049907	MISC.TYPE 5 AGGREGATE FOR BASE MSE WALLS	537.00	-265.00	272.00	CUYD	272.00	\$64.25	\$17,476
		0001	0100	4019905	MISC.OPTIONAL PAVEMENT	7,494.00	125.00	7,619.00	SQYD	7,619.00	\$76.80	\$585,139
		0001	0110	6091042	CONCRETE GUTTER TYPE B	221.00	0.00	221.00	LF	221.00	\$68.10	\$15,050
		0001	0120	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	51.00	0.00	51.00	CUYD	51.00	\$47.10	\$2,402
		0001	0130	6096041	PLACING TYPE 1 ROCK DITCH LINER	51.00	0.00	51.00	CUYD	51.00	\$41.30	\$2,106
		0001	0140	6113010	FURNISHING TYPE 1 ROCK BLANKET	242.00	0.00	242.00	CUYD	242.00	\$48.90	\$11,833
		0001	0150	6113030	PLACING TYPE 1 ROCK BLANKET	242.00	0.00	242.00	CUYD	242.00	\$34.85	\$8,433
		0001	0160	6122019	IMPACT ATTENUATOR 70 MPH (SAND BARREL ARRAY)	4.00	0.00	4.00	EA	4.00	\$2,632.75	\$10,531
		0001	0170	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	0.00	4.00	EA	4.00	\$1,741.75	\$6,967
		0001	0180	6161005	CONSTRUCTION SIGNS	2,140.00	-744.00	1,396.00	SQFT	1,396.00	\$8.45	\$11,796
		0001 02	0190	6161008	ADVANCED WARNING RAIL SYSTEM	10.00	-6.00	4.00	EA	4.00	\$89.50	\$358
			0200	6161025	CHANNELIZER (TRIM LINE)	220.00	0.00	220.00	EA	220.00	\$28.45	\$6,259
			0210	6161030	TYPE III MOVEABLE BARRICADE	55.00	-19.00	36.00	EA	36.00	\$210.60	\$7,581
		0001	0220	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	4.00	\$1,421.75	\$5,687
		0001	0230	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	7.00	0.00	7.00	EA	7.00	\$6,055.50	\$42,388
		0001	0240	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	-4.00	0.00	EA	0.00	\$1,211.00	\$0
		0001	0250	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	1,376.00	0.00	1,376.00	LF	1,376.00	\$24.95	\$34,331
		0001	0260	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$179,836.00	\$179,836
		0001	0270	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0
		0001	0280	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,695.00	0.00	1,695.00	LF	1,695.00	\$0.65	\$1,10
		0001	0290	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,625.00	0.00	1,625.00	LF	1,625.00	\$0.65	\$1,056
		0001	0300	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	764.00	0.00	764.00	LF	764.00	\$0.55	\$42
		0001	0310	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,326.00	0.00	1,326.00	LF	1,326.00	\$0.55	\$72
		0001	0320	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	150.00	0.00	150.00	LF	0.00	\$29.20	\$
		0001	0330	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	713.00	0.00	713.00	SQYD	713.00	\$5.00	\$3,56
		0001	0340	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$13,164.00	\$13,16
		0001	0350	8051000A	SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	ACRE	0.80	\$4,739.25	\$3,79
		0001	0360	8061003	SEDIMENT TRAP EXCAVATION	23.50	-23.50	0.00	CUYD	0.00	\$36.25	\$
		0001	0370	8061004	SEDIMENT TRAP ROCK	9.70	-9.70	0.00	CUYD	0.00	\$146.00	\$
		0001	0380	8061005	ROCK DITCH CHECK	24.00	20.00	44.00	LF	44.00	\$25.95	\$1,14
		0001	0390	8061006	ALTERNATE DITCH CHECK	372.00	-72.00	300.00	LF	300.00	\$10.00	\$3,000
		0001	0400	8061016	SEDIMENT REMOVAL	48.00	0.00	48.00	CUYD	0.00	\$17.75	\$0
		0001	0410	8061017	TEMPORARY SEEDING	0.30	0.00	0.30	ACRE	0.00	\$8,951.75	\$1
		0001	0420	8061019	SILT FENCE	1,175.00	395.00	1,570.00	LF	1,570.00	\$2.95	\$4,63
		0001	0430	8064134	TYPE 1D EROSION CONTROL BLANKET	6,292.00	0.00	6,292.00	SQYD	3,146.00	\$1.85	\$5,820
		0010	0440	6061010	GUARDRAIL TYPE A	2,250.00	0.00	2,250.00	LF	2,162.50	\$31.85	\$68,875

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Vote: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
16-C06	J3S3174	0010	0450	6061060	MGS GUARDRAIL	1,150.00	0.00	1,150.00	LF	1,150.00	\$32.90	\$37,835.0
		0010	0460	6061080	MGS END ANCHOR	4.00	0.00	4.00	EA	4.00	\$1,316.50	\$5,266.0
		0010	0470	6062100	BRIDGE ANCHOR SECTION (CURB TYPE)	4.00	0.00	4.00	EA	4.00	\$2,632.75	\$10,531.0
		0010	0480	6062303	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	4.00	0.00	4.00	EA	4.00	\$631.90	\$2,527.6
		0010	0490	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10.00	0.00	10.00	EA	10.00	\$3,264.75	\$32,647.5
		0010	0500	6064100	MEDIAN GUARD CABLE 3 - STRAND	100.00	0.00	100.00	LF	0.00	\$43.70	\$0.0
		0010	0510	6064110	ANCHOR ASSEMBLY, GUARD CABLE 3-STRAND	4.00	-2.00	2.00	EA	2.00	\$3,791.25	\$7,582.5
		0010	0520	6066610	END ANCHOR	3.00	0.00	3.00	EA	3.00	\$1,263.75	\$3,791.2
		0040	0530	9031010	CONCRETE FOOTINGS, EMBEDDED	6.30	0.00	6.30	CUYD	0.00	\$1,158.50	\$0.0
		0040	0 0540 9031210	9031210	STRUCTURAL STEEL POSTS	3,530.00	0.00	3,530.00	LB	3,530.00	\$5.80	\$20,474.0
		0040	0550	9031220	PIPE POSTS	420.00	0.00	420.00	LB	420.00	\$8.15	\$3,423.0
		0040	0560	9031270A	2 IN. PSST POST - 12 GA.	156.00	0.00	156.00	LF	156.00	\$20.00	\$3,120.0
		0040	0570	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	10.00	0.00	10.00	EA	10.00	\$105.30	\$1,053.0
		0040	0580	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	2.00	0.00	2.00	EA	2.00	\$131.70	\$263.4
		0040	0590	9031280	2.5 IN. PSST POST - 12 GA.	35.00	0.00	35.00	LF	35.00	\$23.15	\$810.2
		0040	0600	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	2.00	0.00	2.00	EA	2.00	\$210.60	\$421.2
	0040 0040 0070 0070	0040 0620 9035011/ 0070 0630 2061003	9035004A	SH-FLAT SHEET	51.00	0.00	51.00	SQFT	51.00	\$20.00	\$1,020.0	
			9035011A	ST-STRUCTURAL	436.00	0.00	436.00	SQFT	436.00	\$30.55	\$13,319.8	
			2061003	CLASS 1 EXCAVATION IN ROCK	25.00	0.00	25.00	CUYD	25.00	\$408.30	\$10,207.5	
			0070 0640 2160500 REMOVAL OF BRIDGES		REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$89,550.00	\$89,550.0
		0070 0650 5031011A BRIDGE APPROACH SLAB (MINOR ROAD) 0070 0660 7021212 GALVANIZED STRUCTURAL STEEL PILES (12 IN)		BRIDGE APPROACH SLAB (MINOR ROAD)	129.00	0.00	129.00	SQYD	129.00	\$324.80	\$41,899.2	
				7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	244.00	60.00	304.00	LF	304.00	\$143.10	\$43,502.4
		0070	0670	7026000	PRE-BORE FOR PILING	80.00	0.00	80.00	LF	80.00	\$89.50	\$7,160.0
		0070	0680	7027000	PILE POINT REINFORCEMENT	8.00	0.00	8.00	EA	8.00	\$163.80	\$1,310.4
		0070	0690	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	75.40	0.00	75.40	CUYD	75.40	\$1,025.75	\$77,341.5
		0070	0700	7034222	SLAB ON CONCRETE BEAM	472.00	0.00	472.00	SQYD	472.00	\$571.50	\$269,748.0
		0070	0710	7034630	CONCRETE CURB (BRIDGE RAIL)	307.00	0.00	307.00	LF	307.00	\$134.40	\$41,260.8
		0070	0720	7056049	21 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	544.00	0.00	544.00	LF	544.00	\$402.00	\$218,688.0
		0070	0730	7101000	REINFORCING STEEL (EPOXY COATED)	10,920.00	300.00	11,220.00	LB	11,220.00	\$1.95	\$21,879.0
		0070	0740	7122300	BRIDGE RAIL (TWO TUBE STRUCTURAL STEEL)	307.00	0.00	307.00	LF	307.00	\$310.70	\$95,384.9
		0070	0750	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,840.50	\$3,681.0
		0070	0760	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$137.60	\$1,100.8
		0070	0770	7161002	LAMINATED NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$169.90	\$1,359.2
		0070	0780	7201300	PIPE PILE SPACERS	8.00	0.00	8.00	EA	8.00	\$1,134.00	\$9,072.0
		0071	0790	7110300	CONCRETE AND MASONRY PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$2,765.00	\$0.0
		0071	0800	7110400	SACRIFICIAL GRAFFITI PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$2,720.75	\$0.0
		0071	0810	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	1,666.00	0.00	1,666.00	SQFT	1,666.00	\$106.50	\$177,429.0
		0072	0820	7110300	CONCRETE AND MASONRY PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$2,765.00	\$0.0
		0072	0830	7110400	SACRIFICIAL GRAFFITI PROTECTION SYSTEM	1.00	0.00	1.00	LS	0.00	\$2,720.75	\$0.0
		0072	0840	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	1,631.00	0.00	1,631.00	SQFT	1,631.00	\$107.20	\$174,843.2
		0071	5001	3049907	MISC.Misc. 4" Minus for Base MSE Walls	0.00	427.00	427.00	CUYD	427.00	\$57.96	\$24,748.9
	D		tel Velue	Posted to D	ate as of Report Generated Date							\$2,814,338.2



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J3S3174

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	2071000	LINEAR GRADING CLASS 1	5/15/23	5/16/23	8.60	STA	Inside median guardrail East and West Bound.	1249+38		1252+69		
0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	5/12/23	5/16/23	125.00	SQYD	Ramp C	102+90		10+20.55		
0100	4019905	MISC.	5/12/23	5/16/23	125.00	SQYD	Ramp C	102+90		10+20.55		
0120	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	5/12/23	5/16/23	3.60	CUYD	North and South ends of Rte. T around bridge approches	104+10.75		104+10.75		
0130	6096041	PLACING TYPE 1 ROCK DITCH LINER	5/12/23	5/16/23	3.60	CUYD	North and South ends of Rte. T around bridge approches	104+10.75		104+10.75		
0190	6161008	ADVANCED WARNING RAIL SYSTEM	5/12/23	5/16/23	-6.00	EA	Entire Project	101+20		107+83		
0210	6161030	TYPE III MOVEABLE BARRICADE	5/12/23	5/16/23	9.00	EA	Entire Job	101+20		107+83		
0260	6181000	MOBILIZATION	5/12/23	5/16/23	0.25	LS		101+20		107+83		
0330	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	5/12/23	5/16/23	713.00	SQYD	Along slopes at all 4 corners of bridge north and south sides	104+10.75		105+89.25		
0380	8061005	ROCK DITCH CHECK	5/12/23	5/16/23	44.00	LF	Various locations	101+20		107+83		
0450	6061060	MGS GUARDRAIL	5/15/23	5/16/23	675.00	LF	Inside median guardrail East and West Bound.	1249+38		1253+69		
0460	6061080	MGS END ANCHOR	5/15/23	5/16/23	2.00	EA		1249+38		1252+69		
0470	6062100	BRIDGE ANCHOR SECTION (CURB TYPE)	5/12/23	5/16/23	4.00	EA	all for corners of bridge	1+50.69		105+76.75		
0480	6062303	ASYMMETRICAL TRNS. SEC., 6.5 FT. POSTS	5/12/23	5/16/23	4.00	EA	all for corners of bridge	1+50.69		105+69.75		
0490	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	5/15/23	5/16/23	2.00	EA	Inside median guardrail East and West Bound.	1249+38		1252+69		
0540	9031210	STRUCTURAL STEEL POSTS	5/12/23	5/16/23	3,530.00	LB	Various locations Signs 1,6,8,10,11,16	11+54		12+68		
0550	9031220	PIPE POSTS	5/12/23	5/16/23	420.00	LB	Various locations Signs 4,12	12+68		12+68		
0560	9031270A	2 IN. PSST POST - 12 GA.	5/12/23	5/16/23	79.70	LF	Various locations Signs 2,3,5,13,14,15	12+13		12+13		
0570	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	5/12/23	5/16/23	5.00	EA	Various locations Signs 2,3,5,13,14,15	12+13		12+13		
0580	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	5/12/23	5/16/23	1.00	EA	Various locations Signs 7,9	103+82		103+82		
0590	9031280	2.5 IN. PSST POST - 12 GA.	5/12/23	5/16/23	16.60	LF	Various locations Signs 7,9	103+82		103+82		
0610	9035004A	SH-FLAT SHEET	5/12/23	5/16/23	30.25	SQFT	Various locations Signs 5,7,8,9,13	11+54		11+54		
0620	9035011A	ST-STRUCTURAL	5/12/23	5/16/23	436.00	SQFT	Various locations Signs 1,6,10,11,16	107+75		107+75		
0660	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN	5/12/23	5/16/23	61.00	LF	Both ends of Rte. T bridge	104+30.25		105+69.75		
0700	7034222	SLAB ON CONCRETE BEAM	5/12/23	5/16/23	23.60	SQYD		104+30.75		105+69.25		
0740	7122300	BRIDGE RAIL (TWO TUBE STRUCTURAL STEEL)	5/12/23	5/16/23	307.00	LF		104+30.25		105+69.75		

The information below this line are details for Construction Signs (if applicable). No Data Available



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks									
J3S3174	0040	EMBANKMENT IN PLACE	Material		8	Apr 3, 2023	SYSTEM	\$98,408.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					8	Apr 3, 2023	SYSTEM	(\$98,408.60)										
					9	Apr 17, 2023	SYSTEM	\$98,408.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					9	Apr 17, 2023	SYSTEM	(\$98,408.60)										
				- Total				\$0.00										
			Material - Tot	tal				\$0.00										
	0040 -	Total						\$0.00										
	0050	COMPACTING EMBANKMENT	Material		4	Feb 1, 2023	SYSTEM	\$2,793.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					4	Feb 1, 2023	SYSTEM	(\$2,793.10)										
					5 Feb 15, SYSTI 2023	SYSTEM	\$2,793.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					5	Feb 15, 2023	SYSTEM	(\$2,793.10)										
					6	Mar 2, 2023	SYSTEM	\$2,793.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					6	Mar 1, 2023	SYSTEM	(\$2,793.10)										
					7	Mar 16, 2023	SYSTEM	\$2,793.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					7	Mar 16, 2023	SYSTEM	(\$2,793.10)										
							8	Apr 3, 2023	SYSTEM	\$3,694.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jamesc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.							
					8	Apr 3, 2023	SYSTEM	(\$3,694.10)										
										9	Apr 17, 2023	SYSTEM	\$3,694.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jamesc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.				
					9	Apr 17, 2023	SYSTEM	(\$3,694.10)										
				- Total				\$0.00										
			Material - To	tal				\$0.00										
	0050 -	Total						\$0.00										
	0080	TYPE 1 AGGREGATE FOR BASE (4 IN.	Material		8	Apr 3, 2023	SYSTEM	\$63,324.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jamesc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.									
		THICK)									8	Apr 3, 2023	SYSTEM	(\$63,324.30)				
					9	Apr 17, 2023	SYSTEM	(\$63,324.30)										
					10	May 2, 2023	SYSTEM	\$63,324.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					10	May 2, 2023	SYSTEM	(\$63,324.30)										
					11	May 16, 2023	SYSTEM	\$64,380.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					11	May 16, 2023	SYSTEM	(\$64,380.55)										



May 18, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J3S3174	0080	TYPE 1 AGGREGATE FOR	Material	- Total				\$0.00						
		BASE (4 IN. THICK)	Material - To	tal				\$0.00						
	0080 -	· Total						\$0.00						
	0110	CONCRETE GUTTER TYPE B	Material		7	Mar 16, 2023	SYSTEM	\$7,525.05	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jamesc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.					
					7	Mar 16, 2023	SYSTEM	(\$7,525.05)						
					8	Apr 3, 2023	SYSTEM	\$15,050.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jamesc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.					
					8	Apr 3, 2023	SYSTEM	(\$15,050.10)						
					9	Apr 17, 2023	SYSTEM	\$15,050.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jamesc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.					
		- Total Material - Total			9	Apr 17, 2023	SYSTEM	(\$15,050.10)						
					10	May 2, 2023	SYSTEM	\$15,050.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jamesc2 overridding Payment Estimate Exception 6 on the current Payment Estimate.					
								10 May 2, 2023 SYSTEM (\$15,050.10) 11 May 16, 2023 SYSTEM \$15,050.10 This adjustment offsets the original system-generated Estimate Item Adjustment (0026) due to user jamesci			10		SYSTEM	(\$15,050.10)
									This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user jamesc2 overridding Payment Estimate Exception 6 on the current Payment Estimate.					
					11	May 16, 2023	SYSTEM	(\$15,050.10)						
			- Total				\$0.00							
			tal				\$0.00							
	0110 -	Total						\$0.00						
	0120	FURNISHING TYPE 1 ROCK DITCH LINER	Material		5	Feb 15, 2023	SYSTEM	\$1,789.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.					
					5	Feb 15, 2023	SYSTEM	(\$1,789.80)						
					6	Mar 2, 2023	SYSTEM	\$1,789.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.					
					6	Mar 1, 2023	SYSTEM	(\$1,789.80)						
				- Total				\$0.00						
			Material - To	tal				\$0.00						
	0120 - 0140	Total FURNISHING TYPE 1 ROCK BLANKET	Material		8	Apr 3, 2023	SYSTEM	\$0.00 \$11,833.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user jamesc2 overridding Payment					
		BLANKE I			8	Apr 3,	SYSTEM	(\$11,833.80)	Estimate Exception 10 on the current Payment Estimate.					
							9	9	2023 Apr 17, 2023	SYSTEM	\$11,833.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jamesc2 overridding Payment Estimate Exception 10 on the current Payment Estimate.		
					9	Apr 17, 2023	SYSTEM	(\$11,833.80)	· · · · · · · · · · · · · · · · · · ·					
					10	May 2, 2023	SYSTEM	\$11,833.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jamesc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.					
					10	May 2, 2023	SYSTEM	(\$11,833.80)						
				- Total				\$0.00						
			Material - To	tal				\$0.00						
		Total						£0.00						
	0140 ·	Total						\$0.00						



May 18, 2023

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
3S3174	0170	TRAILER MOUNTED ATTEN	Material			2023			Estimate Item Adjustment (0005) due to user jamesc2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
		(TMA)			6	Mar 1,	SYSTEM	(\$6,967.00)	
				- Total		2023		\$0.00	
			Material - Tot					\$0.00	
	0470	T -4-1	Waterial - 10	tai					
		· Total						\$0.00	
	0280	6 IN. WHITE HIGH BUILD WATERBORNE	Material		10	May 2, 2023	SYSTEM	\$881.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jamesc2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
		PAINT			10	May 2, 2023	SYSTEM	(\$881.40)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0280 -	Total						\$0.00	
	0290	6 IN. YELLOW HIGH BUILD WATERBORNE	Material		10	May 2, 2023	SYSTEM	\$881.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jamesc2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
		PAINT			10	May 2, 2023	SYSTEM	(\$881.40)	
				- Total				\$0.00	
			M-4						
			Material - To	tal				\$0.00	
	0290 -	Total						\$0.00	
	0300	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		10	May 2, 2023	SYSTEM	\$336.16	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jamesc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
		MARKING			10	May 2, 2023	SYSTEM	(\$336.16)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0200	Total							
		Total			10			\$0.00	
	0300 - 0310	4 IN. YELLOW WATERBORNE PAVEMENT	Material		10	May 2, 2023	SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
		4 IN. YELLOW WATERBORNE			10		SYSTEM SYSTEM	\$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment
		4 IN. YELLOW WATERBORNE PAVEMENT		- Total		2023 May 2,		\$0.00 \$336.16	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment
		4 IN. YELLOW WATERBORNE PAVEMENT	Material	- Total		2023 May 2,		\$0.00 \$336.16 (\$336.16) \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment
	0310	4 IN. YELLOW WATERBORNE PAVEMENT MARKING		- Total		2023 May 2,		\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment
	0310	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL	Material	- Total		2023 May 2,		\$0.00 \$336.16 (\$336.16) \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment
	0310 0310 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION	Material Material - Tot	- Total	10	2023 May 2, 2023 May 16, 2023 May 16,	SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL	Material Material - Tot	- Total	10	2023 May 2, 2023 May 16, 2023	SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL	Material Material - Tor Material	- Total tal - Total	10	2023 May 2, 2023 May 16, 2023 May 16,	SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material Material - Tot	- Total tal - Total	10	2023 May 2, 2023 May 16, 2023 May 16,	SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN, YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material - Tot Material - Tot Material - Tot	- Total tal - Total	10 11 11	2023 May 2, 2023 May 16, 2023 May 16, 2023	SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material Material - Tor Material	- Total tal - Total	10	2023 May 2, 2023 May 16, 2023 May 16,	SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material - Tot Material - Tot Material - Tot	- Total tal - Total	10 11 11	2023 May 2, 2023 May 16, 2023 May 16, 2023 May 2,	SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material - Tot Material - Tot Material - Tot	- Total tal - Total	10 11 11 10	2023 May 2, 2023 May 16, 2023 May 16, 2023 May 16, 2023 May 2, 2023	SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$0.00 \$3,791.40	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material - Tot Material - Tot Material - Tot	- Total tal - Total	10 11 11 10 10	2023 May 2, 2023 May 16, 2023 May 16, 2023 May 2, 2023 May 2, 2023 May 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$3,791.40	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material - Tot Material - Tot Material - Tot	- Total tal - Total tal	10 11 11 10 10 11	2023 May 2, 2023 May 16, 2023 May 16, 2023 May 2, 2023 May 2, 2023 May 2, 2023 May 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$3,791.40 (\$3,791.40) \$3,791.40	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material - Tor Material - Tor Material - Tor Material	- Total tal tal tal	10 11 11 10 10 11	2023 May 2, 2023 May 16, 2023 May 16, 2023 May 2, 2023 May 2, 2023 May 2, 2023 May 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$3,791.40 (\$3,791.40) \$3,791.40 (\$3,791.40)	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330 - 0350	4 IN, YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE Total SEEDING - COOL SEASON GRASSES	Material - Tot Material - Tot Material - Tot	- Total tal tal tal	10 11 11 10 10 11	2023 May 2, 2023 May 16, 2023 May 16, 2023 May 2, 2023 May 2, 2023 May 2, 2023 May 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$3,791.40 (\$3,791.40) \$3,791.40 (\$3,791.40) \$3,791.40	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	0310 0310 - 0330 - 0350	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PERMANENT EROSION CONTROL GEOTEXTILE	Material - Tor Material - Tor Material - Tor Material - Tor	- Total tal tal tal	10 11 11 10 10 11	2023 May 2, 2023 May 16, 2023 May 16, 2023 May 2, 2023 May 2, 2023 May 2, 2023 May 16, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$336.16 (\$336.16) \$0.00 \$0.00 \$3,565.00 (\$3,565.00) \$0.00 \$0.00 \$3,791.40 (\$3,791.40) \$3,791.40 (\$3,791.40)	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.



May 18, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks						
J3S3174	0380	CHECK	Material			2023			Estimate Item Adjustment (0016) due to user jamesc2 overridding Payment Estimate Exception 18 on the current Payment Estimate.						
					11	May 16, 2023	SYSTEM	(\$1,141.80)							
				- Total				\$0.00							
			Material - Tot	al				\$0.00							
	0380 -	Total						\$0.00							
	0390	ALTERNATE DITCH CHECK	Material		3	Jan 17, 2023	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.						
					3	Jan 17, 2023	SYSTEM	(\$3,000.00)							
				- Total				\$0.00							
			Material - Tot	al				\$0.00							
	0390 -	Total						\$0.00							
	0420	SILT FENCE	Material		7	Mar 16, 2023	SYSTEM	\$3,466.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jamesc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.						
					7	Mar 16, 2023	SYSTEM	(\$3,466.25)							
					8	Apr 3, 2023	SYSTEM	\$3,466.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jamesc2 overridding Payment Estimate Exception 23 on the current Payment Estimate.						
					8	Apr 3, 2023	SYSTEM	(\$3,466.25)							
												9	Apr 17, 2023	SYSTEM	\$3,466.25
					9	Apr 17, 2023	SYSTEM	(\$3,466.25)							
				- Total				\$0.00							
			Material - Tot	al				\$0.00							
	0420 -	Total						\$0.00							
	0440	GUARDRAIL TYPE A	Construction Stockpile		9	Apr 17, 2023	SYSTEM	(\$4,688.25)	Payment Estimate Item Adjustment generated Stockpile Transaction						
					10	May 2, 2023	SYSTEM	(\$33,934.00)	Payment Estimate Item Adjustment generated Stockpile Transaction						
				- Total				(\$38,622.25)							
			Construction	Stockpile - 1	otal			(\$38,622.25)							
			Construction Stockpile		1	Dec 15, 2022	SYSTEM	\$40,185.00	Payment Estimate Item Adjustment generated Stockpile Transaction						
			STMI	- Total				\$40,185.00							
			Construction	Stockpile S1	MI - Tota			\$40,185.00							
	0440 -	Total						\$1,562.75							
	0450	MGS GUARDRAIL	Construction Stockpile		6	Mar 1, 2023	SYSTEM	(\$8,876.41)	Payment Estimate Item Adjustment generated Stockpile Transaction						
					11	May 16, 2023	SYSTEM	(\$12,613.84)	Payment Estimate Item Adjustment generated Stockpile Transaction						
				- Total				(\$21,490.25)							
			Construction	Stockpile - 1	otal			(\$21,490.25)							
			Construction Stockpile		1	Dec 15, 2022	SYSTEM	\$21,490.25	Payment Estimate Item Adjustment generated Stockpile Transaction						
			STMI	- Total				\$21,490.25							
			Construction	Stockpile S1	MI - Tota			\$21,490.25							
			Material		6	Mar 2, 2023	SYSTEM	\$15,627.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jamesc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.						
					6	Mar 1, 2023	SYSTEM	(\$15,627.50)							
				- Total				\$0.00							
			Material - Tot	al				\$0.00							



May 18, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J3S3174	0450 -	Total						\$0.00		
	0460	MGS END ANCHOR	Construction Stockpile		6	Mar 1, 2023	SYSTEM	(\$1,700.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					11	May 16, 2023	SYSTEM	(\$1,700.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$3,400.00)		
			Construction	Stockpile - 1	otal			(\$3,400.00)		
			Construction Stockpile		1	Dec 15, 2022	SYSTEM	\$3,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$3,400.00		
			Construction	Stockpile S1	MI - Total			\$3,400.00		
	0460 -	Total						\$0.00		
	0470	BRIDGE ANCHOR SECTION (CURB TYPE)	Construction Stockpile		11	May 16, 2023	SYSTEM	(\$6,020.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		ITFE)		- Total				(\$6,020.00)		
			Construction	Stockpile - 1	otal			(\$6,020.00)		
			Construction Stockpile		1	Dec 15, 2022	SYSTEM	\$6,020.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$6,020.00		
			Construction	Stockpile S1	MI - Total			\$6,020.00		
	0470 -	Total						\$0.00		
	0480	ASYMMETRICAL TRNS. SEC., 6.5 FT. POSTS	Construction Stockpile		11	May 16, 2023	SYSTEM	(\$1,080.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		11.70313		- Total				(\$1,080.00)		
			Construction	Stockpile - 1	otal			(\$1,080.00)		
			Construction Stockpile STMI		1	Dec 15, 2022	SYSTEM	\$1,080.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			OTIVI	- Total				\$1,080.00		
			Construction	Stockpile S1	MI - Total			\$1,080.00		
	0480 -	Total						\$0.00		
	0490	TYPE A CRASHWORTHY END TERMINAL	Y Stockpile			6	Mar 1, 2023	SYSTEM	(\$3,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)			9	Apr 17, 2023	SYSTEM	(\$1,950.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					10	May 2, 2023	SYSTEM	(\$9,750.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					11	May 16, 2023	SYSTEM	(\$3,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$19,500.00)		
			Construction	Stockpile - 1				(\$19,500.00)		
			Construction Stockpile STMI		1	Dec 15, 2022	SYSTEM	\$19,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$19,500.00		
			Construction	Stockpile S1	MI - Total			\$19,500.00		
	0490 - 0510	Total ANCHOR ASSEMBLY,	Material		1	Dec 15, 2022	SYSTEM	\$0.00 \$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jamesc2 overridding Payment	
		GUARD CABLE 3- STRAND			1	Dec 15,	SYSTEM	(\$7,582.50)	Estimate Exception 1 on the current Payment Estimate.	
					2	2022 Jan 3, 2023	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user jamesc2 overridding Payment	
					2	Jan 3,	SYSTEM	(\$7,582.50)	Estimate Exception 1 on the current Payment Estimate.	
					3	2023 Jan 17,	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment	
					2	2023	OVOTEMA	(\$7 500 50)	Estimate Item Adjustment (0002) due to user jamesc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					3	Jan 17, 2023	SYSTEM	(\$7,582.50)		



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3S3174	0510	ANCHOR ASSEMBLY, GUARD CABLE 3-	Material		4	Feb 1, 2023	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jamesc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		STRAND			4	Feb 1, 2023	SYSTEM	(\$7,582.50)	
					5	Feb 15, 2023	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user jamesc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Feb 15, 2023	SYSTEM	(\$7,582.50)	
					8	Apr 3, 2023	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user jamesc2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					8	Apr 3, 2023	SYSTEM	(\$7,582.50)	
					9	Apr 17, 2023	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					9	Apr 17, 2023	SYSTEM	(\$7,582.50)	
					10	May 2, 2023	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					10	May 2, 2023	SYSTEM	(\$7,582.50)	
					11	May 16, 2023	SYSTEM	\$7,582.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					11	May 16, 2023	SYSTEM	(\$7,582.50)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0510 -	· Total						\$0.00	
	0520	END ANCHOR	Construction Stockpile		9	Apr 17, 2023	SYSTEM	(\$740.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	May 2, 2023	SYSTEM	(\$1,480.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,220.00)	
			Construction	n Stockpile - 1	「otal			(\$2,220.00)	
			Construction Stockpile STMI		1	Dec 15, 2022	SYSTEM	\$2,220.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			311111	- Total				\$2,220.00	
			Construction	n Stockpile S⊺	MI - Total			\$2,220.00	
	0520 -	Total						\$0.00	
	0540	STRUCTURAL STEEL POSTS	Construction Stockpile		11	May 16, 2023	SYSTEM	(\$13,704.21)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$13,704.21)	
				n Stockpile - 1				(\$13,704.21)	
			Construction Construction Stockpile STMI		Total 7	Mar 16, 2023	SYSTEM	\$13,704.21	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction Stockpile STMI	- Total	7	2023	SYSTEM	\$13,704.21 \$13,704.21	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction Stockpile STMI		7	2023	SYSTEM	\$13,704.21 \$13,704.21 \$13,704.21	Payment Estimate Item Adjustment generated Stockpile Transaction
		Total	Construction Stockpile STMI Construction	- Total	7 ГМІ - Total	2023		\$13,704.21 \$13,704.21 \$13,704.21 \$0.00	
	0540 - 0550	Total PIPE POSTS	Construction Stockpile STMI	- Total Stockpile ST	7	2023	SYSTEM	\$13,704.21 \$13,704.21 \$13,704.21 \$0.00 (\$2,472.40)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction Stockpile STMI Construction Construction Stockpile	- Total Stockpile ST	7 IMI - Total 11	2023 May 16,		\$13,704.21 \$13,704.21 \$13,704.21 \$0.00 (\$2,472.40) (\$2,472.40)	
			Construction Stockpile STMI Construction Construction Stockpile	- Total Stockpile ST	7 FMI - Total 11 Fotal	2023 May 16, 2023	SYSTEM	\$13,704.21 \$13,704.21 \$13,704.21 \$0.00 (\$2,472.40) (\$2,472.40) (\$2,472.40)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction Stockpile STMI Construction Construction Stockpile	- Total Stockpile S - Total Stockpile - 1	7 IMI - Total 11	2023 May 16,		\$13,704.21 \$13,704.21 \$13,704.21 \$0.00 (\$2,472.40) (\$2,472.40) (\$2,472.40) \$2,472.40	
			Construction Stockpile STMI Construction Construction Stockpile Construction Stockpile STMI	- Total Stockpile ST	7 IMI - Total 11 Fotal 7	2023 May 16, 2023 Mar 16, 2023	SYSTEM	\$13,704.21 \$13,704.21 \$13,704.21 \$0.00 (\$2,472.40) (\$2,472.40) (\$2,472.40)	Payment Estimate Item Adjustment generated Stockpile Transaction



May 18, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J3S3174	0550 -	Total						\$0.00	
	0560	2 IN. PSST POST - 12 GA.	Material		9	Apr 17, 2023	SYSTEM	\$1,526.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jamesc2 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					9	Apr 17, 2023	SYSTEM	(\$1,526.00)	
					10	May 2, 2023	SYSTEM	\$1,526.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jamesc2 overridding Payment Estimate Exception 27 on the current Payment Estimate.
					10	May 2, 2023	SYSTEM	(\$1,526.00)	
					11	May 16, 2023	SYSTEM	\$3,120.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user jamesc2 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					11	May 16, 2023	SYSTEM	(\$3,120.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0560 -	Total						\$0.00	
	0590	2.5 IN. PSST POST - 12 GA.	Material		9	Apr 17, 2023	SYSTEM	\$425.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jamesc2 overridding Payment Estimate Exception 25 on the current Payment Estimate.
					9	Apr 17, 2023	SYSTEM	(\$425.96)	
					10	May 2, 2023	SYSTEM	\$425.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user jamesc2 overridding Payment Estimate Exception 28 on the current Payment Estimate.
					10	May 2, 2023	SYSTEM	(\$425.96)	
					11	May 16, 2023	SYSTEM	\$810.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jamesc2 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					11	May 16, 2023	SYSTEM	(\$810.25)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0590 -	Total						\$0.00	
	0650	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		8	Apr 3, 2023	SYSTEM	\$41,899.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Apr 3, 2023	SYSTEM	(\$41,899.20)	
					9	Apr 17, 2023	SYSTEM	\$41,899.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					9	Apr 17, 2023	SYSTEM	(\$41,899.20)	
					10	May 2, 2023	SYSTEM	\$41,899.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jamesc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	May 2, 2023	SYSTEM	(\$41,899.20)	
					11	May 16, 2023	SYSTEM	\$41,899.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user jamesc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					11	May 16, 2023	SYSTEM	(\$41,899.20)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0650 -	Total						\$0.00	
	0660	GALVANIZED STRUCTURAL STEEL PILES (12	Material		4	Feb 1, 2023	SYSTEM	\$17,458.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		IN			4	Feb 1, 2023	SYSTEM	(\$17,458.20)	. ,
						2023			



Project Line Description Adjustment Type Other Adjustment Type Content Date Created By Amount Amount Remarks J3S3174 060 GALVANIZED Material 5 Feb 15, 2023 SYSTEM \$34,773.30 This adjustment (0003) due to user jamesc2 overridding Estimate tem Adjustment (0003) due to user jamesc2 overridding Estimate Exception 6 on the current Payment Estimate. 6 Mar 2, 2023 SYSTEM \$34,773.30 This adjustment offsets the original system-generated Material Pa Estimate Exception 6 on the current Payment Estimate. 6 Mar 2, 2023 SYSTEM \$34,773.30 This adjustment offsets the original system-generated Material Pa Estimate Exception 7 on the current Payment Estimate. 6 Mar 2, 2023 SYSTEM \$34,773.30 This adjustment offsets the original system-generated Material Pa Estimate Exception 7 on the current Payment Estimate. 0660 -Total -Total SYSTEM \$35.00 Status tem Adjustment (0004) due to user jamesc2 overridding Estimate Exception 6 on the current Payment Estimate. 0660 -Total -Total SYSTEM \$65.20 This adjustment offsets the original system-generated Material Pa Estimate Exception 6 on the current Payment Estimate. 0660<	yment Payment Payment yment Payment
STRUCTURAL STEEL PILES (12) IN STEEL PILES (12) IN 5 Feb 15, 2023 SYSTEM (\$34,773.30) Estimate Exception 6 on the current Payment Estimate. 6 Mar 2, 2023 SYSTEM \$34,773.30 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0008) due to user jamesc2 overridding Estimate Item Adjustment offsets the original system-generated Material Pay Estimate Item Adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 6 on the current Payment Estimate. 0680 PILE POINT REINFORCEMENT Material 4 Feb 1, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Exception 6 on the current Payment Estimate. 6 Keb 15, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Exception 7 on the current Payment Estimate.	yment Payment Payment yment Payment
6 Karran SYSTEM (\$34,773.30) 6 Mar 2, 2023 SYSTEM \$34,773.30 This adjustment offsets the original system-generated Material Pagestimate Exception 7 on the current Payment Estimate. 6 Mar 1, 2023 SYSTEM (\$34,773.30) This adjustment offsets the original system-generated Material Pagestimate Exception 7 on the current Payment Estimate. - Total 0660 - Total 0660 - Total 0660 - Total OB60 - Total 00000 PILE POINT Material PILE POINT PILE POINT <t< td=""><td>Payment yment Payment yment</td></t<>	Payment yment Payment yment
0660 - Total 0660 - Total 0660 - Total 9 9 9 9 9 9 0660 - Total 0660 - Total 0 9	Payment yment Payment yment
0660 - Total - Total \$0.00 0660 - Total \$0.00 0660 - Total \$0.00 0660 - Total \$0.00 0680 PILE POINT REINFORCEMENT Material 4 Feb 1, 2023 SYSTEM \$655.20 5 Feb 1, 2023 SYSTEM \$655.20 5 Feb 15, 2023 SYSTEM \$655.20 5 Feb 15, 2023 SYSTEM \$655.20 5 Feb 15, 2023 SYSTEM \$655.20 6 Mar 2, 2023 SYSTEM \$655.20 7 Feb 15, 2023 SYSTEM \$655.20 7 Feb 15, 2023 SYSTEM \$655.20 7 Feb 15, 2023 SYSTEM \$655.20 8 Feb 15, 2023 SYSTEM \$655.20 8 Feb 15, 2023 SYSTEM \$655.20 8 Feb 15, 2023 SYSTEM \$655.20	Payment
Material - Total \$0.00 0660 - Total 0660 - Total \$0.00 0680 PILE POINT REINFORCEMENT Material \$4 Feb 1, 2023 \$YSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 6 on the current Payment Estimate. 4 Feb 1, 2023 \$YSTEM \$(\$655.20) This adjustment offsets the original system-generated Material Pay Estimate Exception 6 on the current Payment Estimate. 5 Feb 15, 2023 \$YSTEM \$(\$655.20) This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 7 on the current Payment Estimate. 5 Feb 15, 2023 \$YSTEM \$(\$655.20) This adjustment offsets the original system-generated Material Pay Estimate Exception 7 on the current Payment Estimate. 6 Mar 2, 2023 \$YSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0009) due to user jamesc2 overridding	Payment
O660 - Total \$0.00 0680 PILE POINT REINFORCEMENT Material 4 Feb 1, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Exception 6 on the current Payment Estimate. 4 Feb 1, 2023 SYSTEM (\$655.20) This adjustment offsets the original system-generated Material Pay Estimate Exception 6 on the current Payment Estimate. 5 Feb 15, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 7 on the current Payment Estimate. 5 Feb 15, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Exception 7 on the current Payment Estimate. 6 Mar 2, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0009) due to user jamesc2 overridding Estimate Item Adjustment (0009) due to user jamesc2 overridding	Payment
0680 PILE POINT REINFORCEMENT Material 4 Feb 1, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 6 on the current Payment Estimate. 4 Feb 1, 2023 SYSTEM (\$655.20) This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 7 on the current Payment Estimate. 5 Feb 15, 2023 SYSTEM (\$655.20) 6 Mar 2, 2023 SYSTEM \$665.20 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0009) due to user jamesc2 overridding Estimate Item Adjustment (0009) due to user jamesc2 overridding	Payment
REINFORCEMENT 2023 2023 Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 6 on the current Payment Estimate. 4 Feb 1, 2023 SYSTEM (\$655.20) 5 Feb 15, 2023 SYSTEM \$655.20 5 Feb 15, 2023 SYSTEM \$655.20 6 Mar 2, 2023 SYSTEM \$655.20 7 Feb 15, 2023 SYSTEM \$655.20 8 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Payment Estimate 5 Feb 15, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Payment Estimate 6 Mar 2, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Payment Estimate	Payment
2023 2023 This adjustment offsets the original system-generated Material Pare Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 7 on the current Payment Estimate. 5 Feb 15, 2023 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pare Estimate Exception 7 on the current Payment Estimate. 5 Feb 15, 2023 SYSTEM (\$655.20) 6 Mar 2, 2023 SYSTEM \$6655.20 This adjustment offsets the original system-generated Material Pare Estimate Item Adjustment (0009) due to user jamesc2 overridding	
2023 2023 Estimate Item Adjustment (0004) due to user jamesc2 overridding Estimate Exception 7 on the current Payment Estimate. 5 Feb 15, 2023 SYSTEM (\$655.20) 6 Mar 2, 2023 SYSTEM \$655.20 7 SYSTEM \$655.20 7 SYSTEM \$655.20 8 SYSTEM \$655.20 8 SYSTEM \$655.20	
2023 2023 6 Mar 2, 2023 5 SYSTEM \$655.20 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0009) due to user jamesc2 overridding	Payment
2023 Estimate Item Adjustment (0009) due to user jamesc2 overridding	
6 Mar 1, 2023 SYSTEM (\$655.20)	
- Total \$0.00	
Material - Total \$0.00	
0680 - Total \$0.00	
0690 CLASS B CONCRETE (SUBSTRUCTURE) Material 4 Feb 1, 2023 SYSTEM \$34,875.50 This adjustment offsets the original system-generated Material Particular Estimate tem Adjustment (0005) due to user jamesc2 overridding Estimate Exception 7 on the current Payment Estimate.	
4 Feb 1, SYSTEM (\$34,875.50)	
5 Feb 15, SYSTEM 2023 \$77,341.55 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0005) due to user jamesc2 overridding Estimate Exception 8 on the current Payment Estimate.	
5 Feb 15, SYSTEM (\$77,341.55) 2023	
- Total \$0.00	
Material - Total \$0.00	
0690 - Total \$0.00	
0700SLAB ON CONCRETE BEAMMaterial6Mar 2, 2023SYSTEM\$161,848.80This adjustment offsets the original system-generated Material Part Estimate Item Adjustment (0010) due to user jamesc2 overridding Estimate Exception 9 on the current Payment Estimate.	
6 Mar 1, 2023 SYSTEM (\$161,848.80)	
7 Mar 16, 2023 SYSTEM 256,260.60 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0006) due to user jamesc2 overridding Estimate Exception 4 on the current Payment Estimate.	
7 Mar 16, SYSTEM (\$256,260.60) 2023	
8 Apr 3, 2023 SYSTEM 256,260.60 This adjustment offsets the original system-generated Material Pay Estimate Item Adjustment (0006) due to user jamesc2 overridding Estimate Exception 11 on the current Payment Estimate.	
8 Apr 3, 2023 SYSTEM (\$256,260.60)	
9 Apr 17, SYSTEM \$256,260.60 This adjustment offsets the original system-generated Material Par	
2023 2023 2023 2020 2015 2000 2015 2000 2015 2000 2015 2000 2015 2000 2015 2000 2015 2015	
2023 Estimate Item Adjustment (0014) dué to user jamesc2 overridding	



May 18, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks													
J3S3174	0700	SLAB ON CONCRETE BEAM	Material - To	tal				\$0.00														
	0700 -	Total						\$0.00														
	0710	CONCRETE CURB (BRIDGE RAIL)	Material		8	Apr 3, 2023	SYSTEM	\$41,260.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jamesc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.													
					8	Apr 3, 2023	SYSTEM	(\$41,260.80)														
					9	Apr 17, 2023	SYSTEM	\$41,260.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jamesc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.													
					9	Apr 17, 2023	SYSTEM	(\$41,260.80)														
					10	May 2, 2023	SYSTEM	\$41,260.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user jamesc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.													
					10	May 2, 2023	SYSTEM	(\$41,260.80)														
				- Total				\$0.00														
			Material - To	tal				\$0.00														
	0710 -	Total						\$0.00														
	0720	21 IN., PRESTRESSED CONC SPREAD	Construction Stockpile		6	Mar 1, 2023	SYSTEM	(\$87,882.60)	Payment Estimate Item Adjustment generated Stockpile Transaction													
		BOX BM		- Total				(\$87,882.60)														
			Construction	n Stockpile - ⁻	Total			(\$87,882.60)														
			Construction Stockpile STMI		1	Dec 15, 2022	SYSTEM	\$87,882.60	Payment Estimate Item Adjustment generated Stockpile Transaction													
				- Total	TMI - Total			\$87,882.60														
			Construction	n Stockpile S	TMI - Tota			\$87,882.60														
		Total	Material		0	lan 47	OVOTEM	\$0.00	This adjustment off a to the existing law to mean to different Demonstration													
	0730	REINFORCING STEEL (EPOXY COATED)	Material		3	Jan 17, 2023	SYSTEM	\$15,541.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user jamesc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.													
					3	Jan 17, 2023	SYSTEM	(\$15,541.50)														
					4	Feb 1, 2023	SYSTEM	\$16,132.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jamesc2 overridding Payment Estimate Exception 8 on the current Payment Estimate.													
					4	Feb 1, 2023	SYSTEM	(\$16,132.35)														
					5	Feb 15, 2023	SYSTEM	\$21,879.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user jamesc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.													
					5	Feb 15, 2023	SYSTEM	(\$21,879.00)														
										6	6				((6	6	Mar 2, 2023	SYSTEM	\$21,879.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user jamesc2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					6	Mar 1, 2023	SYSTEM	(\$21,879.00)														
					7	Mar 16, 2023	SYSTEM	\$21,879.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jamesc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.													
					7	Mar 16, 2023	SYSTEM	(\$21,879.00)														
					8	Apr 3, 2023	SYSTEM	\$21,879.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jamesc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.													
					8	Apr 3, 2023	SYSTEM	(\$21,879.00)														
					9	Apr 17, 2023	SYSTEM	\$21,879.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user jamesc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.													



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J3S3174	0730	REINFORCING STEEL (EPOXY COATED)	Material		10	May 2, 2023	SYSTEM	\$21,879.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user jamesc2 overridding Payment Estimate Exception 17 on the current Payment Estimate.	
					10	May 2, 2023	SYSTEM	(\$21,879.00)		
					11	May 16, 2023	SYSTEM	\$21,879.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user jamesc2 overridding Payment Estimate Exception 8 on the current Payment Estimate.	
					11	May 16, 2023	SYSTEM	(\$21,879.00)		
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0730 -	Total						\$0.00		
	0750	VERTICAL DRAIN AT END BENTS	Material		8	Apr 3, 2023	SYSTEM	\$3,681.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.	
					8	Apr 3, 2023	SYSTEM	(\$3,681.00)		
					9	Apr 17, 2023	SYSTEM	\$3,681.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user jamesc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.	
					9	Apr 17, 2023	SYSTEM	(\$3,681.00)		
					10	May 2, 2023	SYSTEM	\$3,681.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user jamesc2 overridding Payment Estimate Exception 20 on the current Payment Estimate.	
					10	May 2, 2023	SYSTEM	(\$3,681.00)		
						11	May 16, 2023	SYSTEM	\$3,681.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user jamesc2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					11	May 16, 2023	SYSTEM	(\$3,681.00)		
				- Total				\$0.00		
			Material - Tot	tal				\$0.00		
	0750 -	Total			_			\$0.00		
	0760	PLAIN NEOPRENE BEARING PAD	Material		6	Mar 2, 2023	SYSTEM	\$1,100.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.	
					6	Mar 1, 2023	SYSTEM	(\$1,100.80)		
					7	Mar 16, 2023	SYSTEM	\$1,100.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jamesc2 overridding Payment Estimate Exception 8 on the current Payment Estimate.	
					7	Mar 16, 2023	SYSTEM	(\$1,100.80)		
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0760 -	Total						\$0.00		
	0770	LAMINATED NEOPRENE BEARING PAD	Material		6	Mar 2, 2023	SYSTEM	\$1,359.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user jamesc2 overridding Payment Estimate Exception 15 on the current Payment Estimate.	
					6	Mar 1, 2023	SYSTEM	(\$1,359.20)		
					7	Mar 16, 2023	SYSTEM	\$1,359.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.	
					7	Mar 16, 2023	SYSTEM	(\$1,359.20)		
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0770 -	Total						\$0.00		
	0810	MECHANICALLY STABILIZED	Material		4	Feb 1, 2023	SYSTEM	\$147,646.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jamesc2 overridding Payment	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																	
J3S3174	0810	EARTH WALL SYS	Material						Estimate Exception 11 on the current Payment Estimate.																	
					4	Feb 1, 2023	SYSTEM	(\$147,646.28)																		
					5	Feb 15, 2023	SYSTEM	\$147,646.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user jamesc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.																	
					5	Feb 15, 2023	SYSTEM	(\$147,646.28)																		
					6	Mar 2, 2023	SYSTEM	\$147,646.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user jamesc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.																	
					6	Mar 1, 2023	SYSTEM	(\$147,646.28)																		
					7	Mar 16, 2023	SYSTEM	\$147,646.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user jamesc2 overridding Payment Estimate Exception 10 on the current Payment Estimate.																	
					7	Mar 16, 2023	SYSTEM	(\$147,646.28)																		
					8	Apr 3, 2023	SYSTEM	\$177,429.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user jamesc2 overridding Payment Estimate Exception 17 on the current Payment Estimate.																	
					8	Apr 3, 2023	SYSTEM	(\$177,429.00)																		
					9	Apr 17, 2023	SYSTEM	\$177,429.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user jamesc2 overridding Payment Estimate Exception 17 on the current Payment Estimate.																	
					9	Apr 17, 2023	SYSTEM	(\$177,429.00)																		
						10	May 2, 2023	SYSTEM	\$177,429.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user jamesc2 overridding Payment Estimate Exception 21 on the current Payment Estimate.																
											10	May 2, 2023	SYSTEM	(\$177,429.00)												
					11	May 16, 2023	SYSTEM	\$177,429.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user jamesc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.																	
					11	May 16, 2023	SYSTEM	(\$177,429.00)																		
				- Total				\$0.00																		
	0010		Material - Tot	tal				\$0.00																		
	0810 - 0840	Total MECHANICALLY	Material		4	Feb 1,	SYSTEM	\$0.00 \$151,805.92	This adjustment offsets the original system-generated Material Payment																	
		STABILIZED EARTH WALL SYS				2023			Estimate Item Adjustment (0008) due to user jamesc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.																	
					4	Feb 1, 2023	SYSTEM	(\$151,805.92)																		
																	5	Feb 15, 2023	SYSTEM	\$174,843.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user jamesc2 overridding Payment Estimate Exception 15 on the current Payment Estimate.					
					5	Feb 15, 2023	SYSTEM	(\$174,843.20)																		
					-	7					-			7	7	6	e 7	6				6	Mar 2, 2023	SYSTEM	\$174,843.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user jamesc2 overridding Payment Estimate Exception 19 on the current Payment Estimate.
																			6	Mar 1, 2023	SYSTEM	(\$174,843.20)				
																				:	7	Mar 16, 2023	SYSTEM	\$174,843.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jamesc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.	
							7	Mar 16, 2023	SYSTEM	(\$174,843.20)																
													8	8	8	Apr 3, 2023	SYSTEM	\$174,843.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user jamesc2 overridding Payment Estimate Exception 20 on the current Payment Estimate.							
					8	Apr 3, 2023	SYSTEM	(\$174,843.20)																		



Image: Second Part Part Part Part Part Part Part Part	Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
STALLIZD EXPINIT VALUE STOR STALLIZD EXPINIT VALUE STOR Status For Subject Status For Sub					Adjustment	Number	Date	Ву		
	J3S3174	0840	STABILIZED	Material		9		SYSTEM	\$174,843.20	Estimate Item Adjustment (0019) due to user jamesc2 overridding Payment
Point - Total 2023 SYSTEM (517, 643, 20) • Normalization of the second of						9		SYSTEM	(\$174,843.20)	
Normal Problem Normal Properties Normal Properties Normal Properties 0 - Total SYSTEM SYSTEM <td< td=""><td>10</td><td></td><td>SYSTEM</td><td>\$174,843.20</td><td>Estimate Item Adjustment (0020) due to user jamesc2 overridding Payment</td></td<>						10		SYSTEM	\$174,843.20	Estimate Item Adjustment (0020) due to user jamesc2 overridding Payment
Nome Nome Estimate Bitmade Bit						10		SYSTEM	(\$174,843.20)	
V V V V 14tarial - Total 90.00 90.00 90.00 90.00 14tarial - Total 90.00 90.00 90.00 90.00 90.00 5001 AGGREGATE FCR BASE Marrial 60.01 90.00 90.00 100.00 <t< td=""><td>11</td><td></td><td>SYSTEM</td><td>\$174,843.20</td><td>Estimate Item Adjustment (0024) due to user jamesc2 overridding Payment</td></t<>						11		SYSTEM	\$174,843.20	Estimate Item Adjustment (0024) due to user jamesc2 overridding Payment
NUMBER Material Total 10.00 040 Total 0.00 0501 AGGREGATE FOR BASE Material S223 SYSTEM S24749.02 This adjustment officits the original system-generated Material Payment Estimate torm Adjustment (Dirol due to user) imased. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imased. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (Dirol due to user) imaged. 2 worlding Payment Estimate torm Adjustment (D						11		SYSTEM	(\$174,843.20)	
C640 - Total MillsC MillsC 501 AGGREEATE FOR BASE MillsC MillsC MillsC MillsC Status <					- Total		1		\$0.00	
501 NGGREGATE FORM Material 9 \$2223 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 601 MGGREGATE FORM \$223 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 6 Feb 1 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 6 Feb 1 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 6 Mar 1 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 6 Mar 1 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 6 Mar 1 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 7 Mar 16 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 7 Mar 16 \$757EM \$22,743.92 This adjustment officiates the original system-generated Material Payment 7 Mar 16 \$757EM \$22,74				Material - Total					\$0.00	
AGGREGATE FOR BASE 2023 Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate 4 Peb 1, 2023 SYSTEM (24,748.92) 5 Peb 15, 2023 SYSTEM (24,748.92) 5 Peb 15, 2023 SYSTEM (24,748.92) 5 Peb 15, 2023 SYSTEM (24,748.92) 6 Mar 2, 2023 SYSTEM (24,748.92) 6 Mar 2, 2023 SYSTEM (24,748.92) 6 Mar 1, 2023 SYSTEM (24,748.92) 6 Mar 1, 2023 SYSTEM (24,748.92) 7 Mar 16, 2023 SYSTEM (24,748.92) 8 Apr 3, 2023 SYSTEM (24,748.92) 9 Apr 17, 2023 SYSTEM (24,748.92) 9 Apr		0840 -	Total						\$0.00	
		5001	AGGREGATE FOR	Material		4		SYSTEM	\$24,748.92	Estimate Item Adjustment (0009) due to user jamesc2 overridding Payment
						4		SYSTEM	(\$24,748.92)	
						5		SYSTEM	\$24,748.92	Estimate Item Adjustment (0010) due to user jamesc2 overridding Payment
 						5		SYSTEM	(\$24,748.92)	
						6		SYSTEM	\$24,748.92	Estimate Item Adjustment (0017) due to user jamesc2 overridding Payment
 						6		SYSTEM	(\$24,748.92)	
1 2023 0 10 10 8 Apr 3, 2023 SYSTEM S24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 8 Apr 3, 2023 SYSTEM (\$24,748.92) This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 9 Apr 17, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 9 Apr 17, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 10 May 2, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 10 May 2, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 11 May 16, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 11 May 16, 2023 SYSTEM						7		SYSTEM	\$24,748.92	Estimate Item Adjustment (0012) due to user jamesc2 overridding Payment
 						7		SYSTEM	(\$24,748.92)	
Apr 17, 2023 Content of the original system-generated Material Payment Estimate tem Adjustment (0020) due to user jamesc2 overridding Payment Estimate Exception 4 on the current Payment Estimate. 9 Apr 17, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 9 Apr 17, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 10 May 2, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 10 May 2, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 11 May 16, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 11 May 16, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. 11 May 16, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate. 11 May 16, 2023 SYSTEM \$24,748.92						8		SYSTEM	\$24,748.92	Estimate Item Adjustment (0015) due to user jamesc2 overridding Payment
1 1 2023 1						8		SYSTEM	(\$24,748.92)	
i 2023 i						9		SYSTEM	\$24,748.92	Estimate Item Adjustment (0020) due to user jamesc2 overridding Payment
10 May 2, 2023 SYSTEM (\$24,748.92) 11 May 16, 2023 SYSTEM \$\$24,748.92 11 May 16, 2023 SYSTEM \$\$0.00 10 SYSTEM \$\$0.00 \$\$1,562,75						9		SYSTEM	(\$24,748.92)	
Amount 2023 Amount Amount 11 May 16, 2023 SYSTEM \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user jamesc2 overridding Payment - Total - Total \$0.00 \$24,748.92 This adjustment offsets the original system-generated Material Payment Estimate. - Total - Total \$0.00 \$001 - Total \$0.00 J3S3174 - Total \$1,562.75 \$1,562.75 \$1,562.75						10		SYSTEM	\$24,748.92	Estimate Item Adjustment (0021) due to user jamesc2 overridding Payment
A constraint of the second						10		SYSTEM	(\$24,748.92)	
Address of the second secon						11		SYSTEM	\$24,748.92	Estimate Item Adjustment (0027) due to user jamesc2 overridding Payment
Material - Total \$0.00 5001 - Total \$0.00 J3S3174 - Total \$1,562.75						11		SYSTEM	(\$24,748.92)	
5001 - Total \$0.00 J3S3174 - Total \$1,562.75					- Total	Total		\$0.00		
J3S3174 - Total \$1,562.75				Material - Total					\$0.00	
		5001 -	Total						\$0.00	
Overall - Total \$1,562.75	J3S3174	- Total							\$1,562.75	
	Overall -	Total							\$1,562.75	



There are no contract adjustments to display for this contract.